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= 138,000
z 4,315,000
< 607,000
= 4,537,605
MEHRE L Y 754,740 173,120 581,620
LHAl Qe R A M 2el 754,740 173,120 581,620
SAINGHEX S 750,400 173,120 577,280
201 Lt AH| 6,500 7,880 1,380
01 AF222|H] 6,500 7,880 A 1,380
O ESAJIUHE TIHEAIE &I E2Z23HE
Xl = 100, 0002 *50H %33 1,500
O sSA2JIYHE &8 JItki210
5,000& x1,0008 5,000
202 OiH| 3,000 2,940 60
01 2 Y| 3,000 2,940 60
O 2&Ts=2 g2=% oyl 3,000,000 3,000
301 LEtEAS 1,400 2,800 21,400
10 SALAHI B A= 1,400 2,800 A1,400
O EAJ|Y RLHE THUHEAIS SIS HE A 1,400
306 == 99,500 99,500 0
01 92 99,500 99,500 0
O s2Jgs48EAH32(5Z) 49,500,000 13 49,500
O dEHIALIMaAEA= 50,000
— Jlegwiiy s4 20,000,000 x2JH A 40,000
— JIGgENSX 10,000,000 174 A 10,000
401 Al&HI L 20| 640,000 0 640,000
01 Al&HI 640,000 0 640,000
O HESZCX X4 I L AAMEH 2
o 140,000, 000 » 14! 140,000
O 8.2 Y=z asdE s L2320 2|2
= 500,000,000 14! 500,000
2028 ZAA 4,340 0 4,340
201 dBt23d| 1,840 0 1,840
01 AF222|H] 1,840 0 1,840
O 3038 ZHAMY =& 2
7,000 x2H x5 x 122 840
O 2028 X4 22 HE
2,000& *13|*500% 1,000
202 OiH| 1,000 0 1,000
01 2| 1,000 0 1,000
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50,000& * 20 1,000
301 EtBA = 1,500 0 1,500
10 dALAHIE &= 1,500 0 1,500
O 202 SusUHE & & &It A2y
50,000 x5 3L *23] 1,500
ot 2 Zg e 155,360 175,440 220,080
= 138,000
i 17,360
Ol LA Xl et 2te| 185,360 175,440 220,080
= 138,000
= 17,360
HzotEE= 11,360 14,182 AR2,822
201 LetIH| 7,360 8,962 A 1,602
01 AtER22/Hl 7,360 8,962 A1,602
O LPG HA2H T NEEE 100, 000& *100H 1,000
O &g, A BSIE Sz 2|
7,000 x3H x5« 122 1,260
O S8 F2Y JtAAN4E 23dM =8
25,0003 10090 2% 12] 2,500
O HEI HII1ZA EE2=2 HH
100,000 100K 1,000
O HEI HIIZA 2SI A ===
1,000,000& *13l 1,000
O HEI HIIHAZES HZE 5003 x2E+600H 600
202 O4Hl 4,000 3,120 880
01 =Wl 4,000 3,120 880
O AKFJtA - HEI| HE RF8 ol
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201 LBt A 5,000 10,380 25,380
01 AtS22lHl 2,000 3,380 21,380
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O ZNEAN 0l LollEEIY
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1,000,000& 1,000
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= 138,000
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=2 138,000
01 Al&H] 137,034 0 137,034
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137,034,008 * 14! 137,034
= 137,034
03 Al& S CHY| 966 0 966
O BEHAULHUD HYFLHAL X 20
b 966,0002 * 14! 96
= 96
ARICHT F4 Y 29 28,340 1,680,076 A1,651,736
APRIEHRI £ A 28,340 1,680,076 A1,651,736
ARIEITI F o 28,340 1,680,076 ~1,651,736
201 Ygreg| 18,240 17,176 1,064
01 Attt 17,240 11,176 6,064
O HEBHE (MG, FESBEN)
1,500, 00024 274 2 3,000
O STAE AHUEXE &X|
3,000, 00024 *17H 2 3,000
O &9l =2CX X4 RIE L 222 MF
2,0002 3005 %23 1,200
O 2g+g 5,000
— MUK BOIE BOlEA +g
5,000,000 5,000
O A9 SZOX 22 27 S|
7,00021+3%x 202 #12% 5,040
02 B2 1,000 1,000 0
O &9l =20X PAZEN 2R
200,000 *53] 1,000
202 01t 5,000 6,000 A1,000
01 =Uy0i ] 5,000 6,000 A1,000
O &9 =BSX ALEX 0yl 5,000,0008! 5,000
203 Y=Y 3,000 3,000 0
03 AR =TTy 3,000 3,000 0
OSSN XM ALEMY 250,002 128 3,000
301 YBrEAS 2,100 3,900 A1,800
10 BAAHIE A2 2,100 3,900 A1,800
O &rIEXl X4 NOILH B4 alb)
35,0008 %3023 1l 1,050
O =T9RAs 23 (HY, 8%, ¥ESIS
Xl) 35,0002 * 102 x37} 4 18] 1,050
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SXNRISY 993,380 1,069,560 AT76,180
SARX BS W 968,380 1,039,560 AT1,180
201 Y2 et] 15,980 13,520 2,460
01 ARl 13,980 13,520 460
O £XRX 22253 M
1,002 x2%2,000% 4,000
O SXRX B U 300,000 +35 23] 1,800
O EZ STHY NS M
2,000%!#1,000 2,000
O £XRX 228 8492 M
100, 0002 1074 1,000
O EXNRAAVS AN HH2
70,0002 72 43| 1,960
O SRRANSY 32AFH 22
70,0002 *10% 18] 700
O EXNRI F2=T S|
7,002 «32§ %1202 2,520
02 232 Y| 2,000 0 2,000
O EXRI S22 ¢35 2822
2,0002!#1,000% 2,000
202 01t 7,500 5,040 2,460
01 2UHoid] 7,500 5,040 2,460
O 452 0l RX S2ES MU0/
50,0009 * 1502 7,500
203 PREZH| 7,000 7,000 0
03 AlMEHYLE| 7,000 7,000 0
O SNRULLEZH 7,000,008 * 14 7,000
01 YsrE Az 5,400 5,000 400
10 BAHAHI 2 A3 5,400 0 5,400
O JIYRXAVS Y HEX A8t
40,0002 +35% 13| 1,400
O SXRI oL FHBA
50,0002 +32 * 03] 1,500
O EXRI A3& Wi SF&T 24
50,0002 x25% x23] 2,500
308 Za3 5,000 4,000 1,000
01 Za3 5,000 4,000 1,000
O £XRX RBIPY BaZ 5,000
—- SXRI RBRA BaZ
5,000,0008 * 141 5,000
307 2I12H0IF 616,000 605,000 1,000
02 DIAPARE 616,000 605,000 11,000
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401 Al&HIZL=RCHYI 309,000 400,000 291,000
01 Al&H| 306,840 400,000 A 93,160
O EXNRIE A8 JIBAIE &
102,280, 000& *3J4 J| & 306,840
03 AIZ=R0bl 2,160 0 2,160
O EXNKRIE A8 JIBtAIE N A2
300,000, 000& *0.72% 2,160
405 KHoHESHI 2,500 0 2,500
01 T =SS HSHI 2,500 0 2,500
O EXgX 22888 ES 7¢
2,000,000 = 1CH 2,000
O ENEEXN INHEFES It 7Y
500,000 *1CH 500
S H3OHZ 25,000 30,000 25,000
201 Let2d| 25,000 30,000 5,000
03 A2 ZHI 25,000 30,000 25,000
O EXUsX 493 I 20,000,000& =12l 20,000
O &E-2 432 EXY Moz A
5,000, 000& *13] 5,000
Morx BHEF AAD|BE RE 5,373,305 5,476,000 A 102,695
= 2,815,000
= 607,000
= 1,951,305
Morzx SHEN MY FH 5,373,305 5,476,000 A 102,695
& 2,815,000
& 607,000
i 1,951,305
MESISHEHHEETH (ZE) 1,000,000 1,000,000 0
= 500,000
= 500,000
402 2I2H X =01 & 1,000,000 1,000,000 0
= 500,000
= 500,000
01 BIZPGEEX 1,000,000 1,000,000 0
O Atetolstngeie &4
1,000,000, 000& * 14! 1,000,000
= 500,000
= 500,000
AEHAAS(BES) 2,315,000 2,599,000 284,000
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& 2,315,000
201 LBt A Y| 115,000 0 115,000
= 115,000
03 A2 115,000 0 115,000
O HCOHHE MEzx2dg
115,000, 0003 * 14 115,000
& 115,000
207 AN Y| 320,000 640,000 A320,000
= 320,000
01 A= S| 320,000 640,000 A320,000
O NS&aAet2st 50,000,000& * 33l 150,000
= 150,000
O Motx NES G524
4,000,000 * 2004 80,000
= 80,000
O MorzxstgmEeolARY
45,000,000& = 23| 90,000
= 90,000
307 gI2told 700,000 620,000 80,000
= 700,000
02 2ItBAEX 700,000 0 700,000
O MOIZHED L ZRIUSH(ER4M0
&) 60,000,000 * 14 60,000
& 60,000
O dMerxzaEst HR24E 30,000,0003 + 84 240,000
= 240,000
O BEdHE & CIAQ e AH-4E
17,000,000& = 109 A& 170,000
= 170,000
O &gy 39448 5,000,0008 * 6944 30,000
= 30,000
O Motz B EYD 7=
25,000,000& * 82 200,000
= 200,000
401 A &HIZL 2048 180,000 0 180,000
= 180,000
01 Al&t| 180,000 0 180,000
O HCIES Motz MACT Z4
5,000,000& =* 36ha 180,000
= 180,000
402 212t X201 1,000,000 1,314,000 A 314,000
= 1,000,000
01 SIAXGEEX 1,000,000 1,314,000 A 314,000
O Motz gt JjZ kY
1,000,000,000& » 1744 1,000,000
& 1,000,000
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Berssrolst grats| 290,805 1,087,000 £796,195
201 Yer2 Y| 40,805 17,000 23,805
01 ALR eIt 40,805 17,000 23,805
O BASBOISYAE MUE WHSXES 2
X1 T§ 2 (68,009 ) 40,805, 0002 40,805
401 Al&HIL 20| 250,000 1,070,000 820,000
01 Al&H] 250,000 1,070,000 £.820,000
O Bassosuas ZUxY ¥ FHye
250,000,000% * 14} 250,000
RSP NSMAKIA(SH) 267,500 90,000 177,500
= 107,000
2 160,500
402 BIRAR 20| 267,500 90,000 177,500
= 107,000
2 160,500
01 PIATEBE 267,500 90,000 77,500
O HHAABZSTHHIXIA (80ha)
267,500,0008 * 14] 267,500
= 107,000
2 160,500
Alo] S0t MR X 500,000 0 500,000
307 2I2H0IE 500,000 0 500,000
02 pIABABE 500,000 0 500,000
O Alo|Z2i0r RIZEI NS 500,000, 000! 500,000
PeEstols 22| #A HE K 1,000,000 0 1,000,000
= 500,000
2 500,000
201 LByl 1,000,000 0 1,000,000
= 500,000
2 500,000
03 A2 | 1,000,000 0 1,000,000
O Besstolst ©2s| A HE X2
1,000,000,0002! * 14! 1,000,000
= 500,000
2 500,000
HOIBH A 750,000 1,700,000 A950,000
NEEYOEY 750,000 1,700,000 A950,000
HOINIAA AT 250,000 700,000 A450,000
306 £013 250,000 700,000 A450,000
01 2012 250,000 700,000 A450,000
O HeINH T 2013 250,000,0002! 250,000
S AR EA T 150,000 250,000 £100,000
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306 £013 150,000 250,000 £100,000
01 2013 150,000 250,000 A100,000
O SHHUATEN 5013 150,000, 0002 150,000
GENSEN B ME T 150,000 250,000 A100,000
306 213 150,000 250,000 £100,000
01 2012 150,000 250,000 A100,000
O SBXHSEXZ2AMEHENAD  150,000,0002 150,000
BER HAMNASH 200,000 500,000 A300,000
306 013 200,000 500,000 A300,000
01 2012 200,000 500,000 300,000
O Hiaeins 012 200,000,0002 200,000
S2OX EH Y 29 1,500,000 0 1,500,000
3 1,500,000
HESDUXNEY 1,500,000 0 1,500,000
3 1,500,000
BES2CX £4 1,500,000 0 1,500,000
= 1,500,000
403 RHXISHH SRH20IH 1,500,000 0 1,500,000
3 1,500,000
02 BJI2HS 0l CHEHCH 8 AF2 bl 1,500,000 0 1,500,000
O HESTUN ZLAY
1,500,000,0002 * 1Al 1,500,000
= 1,500,000
HH2YAU(OIYX D) 42,480 45,544 A3,064
ol 2| 3,000 3,000 0
ol 2| 3,000 3,000 0
203 YREAY| 3,000 3,000 0
04 SNSYARETY| 3,000 3,000 0
O RN2YYL =Y (1521015t
250,002 *122 3,000
o= 2 bl 39,480 42,544 A3,064
2 ZHI/IIY X 14,080 13,468 612
201 Yer2 Yyl 3,080 12,468 612
01 At 2r2ly| 10,680 10,068 612
O Yyt 9,000, 0002 9,000
O 2zl 1,680,0002! 1,680
02 IZ2Y| 2,400 2,400 0
O 2282 ¥ Al 2,400,00024 2,400
405 THAHE S 1,000 1,000 0
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01 ML =SF SHI 1,000 1,000 0
O &t S8 S 1,000,000& 1,000
Jl2ddl/asxs 7,000 7,456 N 456
201 LBEt29H| 3,000 3,136 N 136
01 At 22l 3,000 3,136 AN 136
O bBtx=2H]| 2,000,000& 2,000
O =&l 1,000,000& 1,000
202 044l 4,000 4,320 A 320
01 2Wodbl 4,000 4,320 A 320
O g2=F=& ¢l 4,000,000& 4,000
JI2dul/EXS X 3,000 3,060 60
201 B3| 3,000 3,060 260
01 At22teldl 3,000 3,060 260
O etx=2H]| 1,000,000& 1,000
O S &l 2,000,000& 2,000
Jl2dd|/Mekx 15,400 18,560 A 3,160
201 Et24| 6,900 8,960 A2,060
01 At Zelbl 4,400 6,960 2,560
O LBt=2H]| 1,000,000& 1,000
O Z &l 2,000,000& 2,000
O 294 1,400
— SsHAQG EFAY 70,0003 %23 x10Y 1,400
02 S=2494| 2,500 2,000 500
O 8= St Al 8235 3]
2,500,000& *13] 2,500
202 (4 8,500 9,600 A 1,100
01 2| 8,500 9,600 A 1,100
O g2F& ol 8,500,000& 8,500




